7 (pht3) 58, T4
RPN P

C:?' 1 3 = °

@\'V\X Jg’\u, o unhu en T4Z] S
Ai\/:&_, -‘—La Soli& [ ) 2 qw( voluwes

@ Fml W enmtice \olawe
. i
o[ @beonr | gy~
|

\

@ %0 WL\ \10|V~Wv- weehd H L& ‘%
1 aQ
‘“S\(’C23 * = B \\ - «y_z_r(q,\‘)
L (o2-1) - 5

IR
3 3
b 38 - 3
> 2 r_
91 18
L: 3 o< 3 (
@Cp‘ﬂa‘wfmt ‘H/v- e \fv‘b“‘ o G/;_a.p-&%



7o (pdet) 74 UL

A-s* - (2f@) = A(4-%")
Z 2 2 a5
X+ ::‘\' \= g4'(+‘)5>éy :4(4#%}): ,’;/g
-2 -
. y= + JF -2 I
,-L\ = DA = 2 B8 < Bleed)-B)
2z
= \[:Y%S%~xzé&c(—;(4~§\z= 223
= -2
5 = {a-x - [T&%)
s = a(x-x* ) T %W(%)z1;-51:¥(+(+~X‘)>=1:_(4—~x‘)
E | Tek o L eyl
T | 0. gl Tl .1_7'(4 x2) b = ;(‘h X:>\’ 3’.57:
(C05% seeXiownal  (Ceon s s
LRI P a0 e
z 2
V= ) AW &
12




